19.

20.

21.

22,

Let D be a digraph with p vertices and A be-its
adjacency matrix. Let v;,v; € V(D). Prove that the
G, /)" entry of A™ is the number of walks of length
n from v; to v;. :

D aamug p yerelamas Garem @m SHmsudie
CarlBm wHpd A g JeToL il s
v;,v; € V(D) rens. A e (i, )) eugl e ity U; (pged v;
@ warer n  ferd  Qsmer
aananflsmaenu @GHEEL erer Hlapdl.

H@F&%%

PART C — (3 x 10 = 30 marks)
'Answer any THREE questions.

Show that in any groups of two or more people,
there are always two with exactly the same
number of friends inside the group. ph

Qran® soag ASHEG CHULL FUTEHT 2 6Ter ThHs
20 Gugh Sifd odmer gorag QOAUGES S0
aamafSmaILETar HERTUTET DISEGWeiler QmUuiser
arent lem9. ” :

For any mumv_p G; prove that K<1<6. .

G eremp Gm:ﬁ@@o«_&@l. K<i<é &3.@@5.

State and prove o;\mn&.m theorem. .

sai’Lnd Csppses Hlad. .
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23.

24.

» N . - d
State and prove Euler’s Polyhedon formula.
g iieflar urdldaplrer @frsos aws fipes.

Find the shortest distance from vertex-A to all
vertices in the following weighted graph.

Qsr@ssuL_@eder aeprudiul L Garl(meda A
erémp yereNulelimpagl erever yeraflsEhE@n 2 emer
GnHU FTSMS SAS.
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